S¥7E 3H

30

=ICE MR RE £ TETTE SB | 4B
1 | |EFEHEXRX BKBLGLTHKI11:30 FHASE 11:30
2 |B|A%EHB BHAE
3 |AIREBEKREX¥B8GBA1H) HE

L IAREMEREEM~78 G/MNERIEZR TH13:10] . =
YR @ erREEER 15:30 |OB=L

SEMASE G/MNERIEER T#13:10 (h){E R _ e
S| K\ R E 15:30 |OBAL
6 | K|SNETIIEHRERS R F1T()E R EER T4#:13:30 15:30
7€ (OEMNEAXATHE13:30 S 1530 | O
8 | |IA%EH
9 |H|#KAXH BHE
RERET=ES 15:40 | O
11|k 1530 | O
12 | K |(B) B EHAER 1530 | O
EHETIERESEXFEEBLLTHR11:30) BE (&) _ O

13| K *2 15:30 |,
14| % (BT RUEBAHLTR1130) BE 15:30 |~
15| £ A% H
16| B |[/AEXH BAE
17| A [(FEFE)T#13:30 13:30 | O
18| M |UMNEEBAZLTH11:30 (hE)TH#:13:30 13:30 ZjJ/JSQ:L
19K |/haEETK TKI11:30 FS 11:30
20 | K |FEHDH
21 | € (U E) EERAKE—3H31H
22 | =
23 | H
24 | B
25 | &
26 | K |B#{EX SBEHMERH F9:00 11:30
27 [ KR
28 | &
29 | =

=

B

31




